Circle the right answer(s)

70x 2 =140

140 has 70 and 2 as factors

140 is a multiple of 70 and 2

140 is divisible by 70 and 2

17 x 11 = 187

187 has 17 and 11 as multiples

187 is divisible by 17 and 11

187 is a factor of 17 and 11

39x5=195

39 and 5 are multiples of 195

195 has 39 and 5 as multiples

195 is a factor of 39 and 5

45 x 4 = 180

180 has 45 and 4 as factors

180 is a multiple of 45 and 4

45 and 4 are factors of 180

65x3 =195

65 and 3 are factors of 195

195 is a multiple of 65 and 3

195 has 65 and 3 as factors

67 x2 =134

134 is divisible by 67 and 2

134 has 67 and 2 as factors

67 and 2 are factors of 134



